1.

e mgolA A 0l 7 Lt 7} o o] 5

Ut} 2t Laed] 3718 Fajolat,

L
o

>
> " 1162

1)

~&B

20+2x+118° 4 114° = 360°

20 +2x = 128°

A& 22 HrR0 +x = 64°

o2t Lo 9 27]+=180° - 64° = 116°




2.

AZFgel A W LT aee AR 249U, 7+ eco
2717} 7 = Le] aslket 20° © A3, 7 e e] 2774 7
Leeo] as]e 3ujel o, 7 o] 37 W U

>
> &gl 120°

~&B ~

(ZF 12E)=90°+20°=110°

(ZF7vo)+ (Zrea)=360°-(90° +110°) = 160°
ZtLea9 37]%160°+ 4 = 40° ©]11,

ZF e 27]E40°x 3 = 120° Yyt




il p

o} 1r_l
D mu
¥ .
r N
! N
. N
DL 3
g —
‘ma E - m AY % m
R / g 3
ol 3 3 T ol I
~3 \ H = | ©
ol ,m pmui d_ll_m.“ i m uow
n [3) = = i
b ® i i
A [ wm =
r y <
] Y
e I~ - R
N . T
c3 g 0
T 3 .
M . A
n} o._ - -
ull ul
ks 5 ek
s
T A A

3.



O
=

t}

VAN

1871

ull
RO

i

>

@ 16 7R

@ 174

@ 174




ol7} &yt
o] 4] 0 & ghgc}

o Zol7}

N

Blel

Bl

Ut

5
| 42 T AL He s Wil

]
T T

1
T

74,
T

Z4;

Z
Z
Z

o
o
o

o ok Bk
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